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EOC Review Quiz 10
_____1. All of these are natural events that could alter an ecosystem EXCEPT:
A burning of fossil fuels
B wildfires
C floods
D volcanic activity
_____2. Which of these best describes an organism’s ability to maintain the constant internal conditions necessary for life?
A Homeostasis
B Stability
C Reproduction
D Adaptation
_____3. Gametes must be haploid because:
A gametes are small and can hold only the haploid number of chromosomes
B the gametes’ chromosomes will be replicated prior to cell division
C two gametes will unite during fertilization to create a diploid cell
D fertilization results with a haploid zygote
_____4. Overheating an enzyme results in the enzyme’s loss of:
A net electrical charge
B ability to catalyze a reaction
C storage of a large amount of chemical energy
D storage of inherited information
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image5.png
What is the function of the

nucleus?

A control center of the cell and
stores genetic information

B contains enzymes to break
down certain materials
site of ribosome synthesis

D packages chromosomes to be

moved into the cytoplasm
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‘Which of the following is least
likely affecting the state of a pond?

A chemical fertilizer runoff from
cropland

manure runoff from cropland

animal waste runoff from
cattle and chickens

D trash produced by a farmer
and his family
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What is the key difference between osmosis and diffusion?

A

B

Diffusion specifically refers to the movement of water across the cell
membrane,

Osmosis specifically refers to the movement of water across the cell
membrane.

Diffusion occurs only in plants.

Osmosis oceurs only in plants.
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Higher concentration of Substance moves
substance inside cell out of cell

What process is occurring in the picture above?

A homeostasis C  osmosis

B active transport D diffusion
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A mother goose will approach her goslings and call to them as soon as they hatch
This is how the goslings know which goose is their mother, and they will follow her
from that point on. This process is a learned behavior called imprinting. What is
‘most likely to happen to the goslings if the mother is nof present when they hatch?

A The goslings will remain in the nest and die.

B One of the goslings will lead the rest of the group.

C The goslings will attach themselves to the first moving object they see.
D

The father will tend to the goslings.
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Which of the following is one way
that RNA is different from DNA?

A

B

RNA exists in four structural
forms.

RNA contains deoxyribose
rather than ribose.

RNA contains three strands of
nucleotides.

RNA contains uracil rather
than thymine.
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What can you state about the
organisms Quercus alba and
Quercus phellos by examining their
names?

A They are the same organism
B They are not related
They are closely related.

D They are distantly related.
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In a certain type of mouse, the
phenotype gray is produced when a
white mouse is crossed with a black
mouse. This is an example of
incomplete dominance. If two gray
mice are crossed, what will be the
phenotypes of the offspring?

A 25% black, 50% gray, 25%
white

B 75% black, 25% white
75% gray, 25% white
D 75% white, 25% gray
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A segment of DNA contains the
bases GTATCAGG. What would be
the complementary strand
resulting from transeription?

A CATAGTCC
B CAUAGUCC
C  CUTUGTCC

CATAUTCC
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Based on the pedigree shown above, how would you describe the mother (X)?

A normal C  affected

B carrier D living
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What process is occurring in the picture above?
A mitosis C fertilization

B meiosis D pollination
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Which statement about two offspring created as a result of sexual reproduction is

true?

A The offspring will be genetically identical to one of the parents

B The offspring will be genetically similar to both parents.

C  The offspring will have a different number of chromosomes than either of the
parents.

D The offspring will be genetically identical to one another.
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What are the genotypes of the parents in this Punnett square?

A RrxRr C Rrxrr

B RR xrr D RrxRR
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In Swiss starlings, clutch size is typically around five eggs. Mortality is higher
when the number of eggs laid is much higher or much lower than five. What type
of selection is this an example of?

A morphological selection
B stabilizing selection
C  directional selection

D disruptive selection
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Alichen is a symbiotic relationship
between what two types of
organisms?

A

B
Cc
D

fungi and bacteria
algae and fungi
algae and mold

fungi and mold
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Which of the following statements
about disruptive selection is true?

A Disruptive selection eliminates
the extreme forms and favors
intermediate forms.

B Disruptive selection causes one
phenotype to be replaced by
another.

C  Disruptive selection causes an
increase in the extreme forms
and a decrease in the
intermediate forms.

D Disruptive selection is caused
when humans specifically
select organisms that exhibit a
desired trait.
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Tn the cross NNOOPP X nnoopp,
what would the genotype of the
offspring be?

A NNnnOOooPPpp
B NnOoPp

C  NNOOPP
D

nnoopp
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LSRR

1 a. wings covered by an exoskeleton....... .. Goto2
b. wings not covered by an exoskeleton................ Go to 3
2. a. body has a round shape.... Adalia
b. body has an elongated shape . Dissosteira
3. a. wings point out from the side of the body.......... Odonata
b. wings point toward the posterior of the body ...... Musca

Use the taxonomic key provided to identify which genus insect D belongs to.
A Odonata C  Adalia

B Musca D Dissosteira
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Walruses live in the Arctic and
have a thick fat layer. The
ancestors of modern-day walruses
might not have had such a thick
layer. Over time, the walruses have
probably changed. According to the
theory of evolution by natural
selection, what is the most likely
reason that this change has
probably occurred?

A The walruses wanted to adapt
to the cold climate, so they
learned to develop thicker fat
layers.

B The walruses that had thicker
fat layers were more apt to
survive and live to reproduce.

C  The walruses inherited a
thicker fat layer from their
parents.

D Each successive generation,
more walruses have thicker fat
layers.
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Down syndrome is caused by the
presence of an extra copy of
chromosome 21. How would a
karyotype identify a person with
Down syndrome?

A by identifying the physical
characteristics of someone with
the disease

B by identifying parents as being
carriers before they have
children

C by identifying the presence of
an extra copy of chromosome
21

D by identifying chemical
abnormalities in the blood
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‘Which of the following is used for movement by single-celled protists?
A contractile vacuole ~ C  gullet
B mitochondria D flagella
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A couple has four daughters and no
sons. If the couple has another
child, what is the probability that
the fifth child will be a girl?

A 2% c 5%
B 50% D 100%
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Which molecule is responsible for
transporting amino acids to the
ribosomes?

A DNA C  mRNA
B tRNA D rRNA




image28.png
Which organism directly affects both the mountain lion and snake populations?
A deer C plants
B bird D frog
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What is the relationship between the bird and the frog?
A competition C predator/prey

B symbiosis D mutualism




image30.png
In what way do lipids differ from other organic molecules?

A

B
C
D

Their ratio of C, H, and O is 1:2:1.
They do not dissolve in water.
They store energy.

They form structural and functional compounds that are important to cells.
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A pond is supporting a large fish
community. The addition of any
more fish will cause a food shortage
that will be detrimental to the fish
population. What has the pond
reached?

A biotic potential

B density-dependent population
C  carrying capacity
D logistic growth
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The clownfish makes its home
inside the tentacles of the sea
anemone. The tentacles, which are
poisonous to most other organisms,
provide protection for the clownfish.
The sea anemone will feed on
scraps that are not eaten by the
clownfish. What type of relationship
do the clownfish and sea anemone

have?

A commensalism
B parasitism

C  mutualism

D symbiosis
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A plant cell is placed into a
‘hypotonic solution, What will
happen to the cell?

A Water will flow out of the cell
and cause the cell to wilt.

B Water will flow into the cell
and cause the cell to burst.

G Water will flow into the cell
and cause the cell to become
turgid.

D Water will flow in and out of
the cell, but the size of the cell
will not change.
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Which of the following is ot an
example of secondary succession?

A growth of lichens on a rock
outerop

B growth of grasses in an area
that has been clear-cut

G the progression from marsh to
meadow

D growth of a serub-shrub
habitat on an abandoned farm
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Coal oil
(73%) (39%)
Coal Natural gas
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Natural gas Hydroelectric
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Based on the graphs shown, what do you think a graph for the year 2050 would
look like?

A The use of nonrenewable resources will decrease, and the use of renewable
resources will increase.

B The use of coal will increase because the amount of accessible coal will have
increased.

C  The use of fossil fuels will increase.

D The use of oil will continue to increase because it is a renewable resource.
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Renewable resources can be replaced by nature within a lifetime. Which of the
following is a renewable resource?

A oil C  coal

B hydroelectric D natural gas
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Hemophilia is a recessive, sex-
linked trait. A healthy mother and
a hemophiliac father have a
hemophiliac daughter. Which of the
following statements is true?

A Allof their children will be
hemophiliacs.

B *None of their sons will be
hemophili

C  They can have a healthy
daughter who is not a carrier.

D They can have a healthy son.
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‘Which of the following is the best
description of homeostasis?

A the movement of materials
into and out of a cell

B the transport of molecules
against the concentration
gradient

C  astate of biological balance

wheén the same niumber of
molecules are inside and
outside of the cell
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What type of pollination is most
Likely used by a plant that
produces a large number of small
seeds that are attached to feather-
like structures?

A insect C  wind

B water D self
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Which organism would be found at
the top of an energy pyramid?

A alligator  C  shrimp

B bass D green algae




